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Semester 1 Final Exam Review Algebra 3 -4

*

LT AA( - Solve each equation.

1) -6(5 +4%)=126 1243y

: y=4x+35
%) 234 =—6(7 + 8x)
y=—3x-16
§ ~168 =76 6p) 9 y=—dx—19

LT AAD - Evalnate each function.

K@ 1) ‘i“{x) = x4 2: Find k(—4) .

{{,m) p(x) =—x* - 3; Find p(:c) when p(x)=-147




Find the domain and range for the q 1$) Find the Domain and Range when yon

' function below. graph the sleeping parabolax = y*2 on

e your calculator. The decide whether or
: not the refation is a function.

0
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. 4 | L 4
LT AAQ - Solve each equation with the guadratic formula. X - \b"’ \i b 'Liaf;

18 ¥ —6x-112=0 19) 35+ 10x—13=0 A

LT AAQ - Solve each equation by factoring.

VA0 2t T+ 10=0 |0 K - 11k+28=0

LT AAla - Solve for v in each equation

(A 28 3(Ty-7)=105+x \S 1B 84 —43)+x=-96+2x




LTAAla- Simplify. Your answer should confain only positive exponents,

‘i% nen - (—;7-:4)? ég —xs}"3

2 2)3
/43 v l=y)

LT AAlDb - Solve each equation. Remember to check for extraneous solutions.

1) V2r+35=5 19) V-6-n =1

4 n+£{ fln_—3

Wy

) “' Solve forx:
.

1
a. xs =3

=3
x .
)
1

64

LT AAlD - Solve each equation.

33 —7a—4|=-35
B lo+r|+3=7




;QB? Expand and Simplify: (2x +4)"2

LT AA2a - Solve each é{iuaﬁun. by cﬁéngin g from st andard form to graphing (vertex) form.

Ay 2 +6x-27=0

L
W

Now find the vertex of the equations ahove.

;}_,, % Find the locator point of the function y =
5Vx—9 42

2, Describe the graph of the function =
R}‘i\f: 4i.‘{—3| +2
£

?W\C& }Thﬁ, ¥ U%f\.gx
Y 25 (x F41)* wg

3§ Bxpand and simplify: (x - 5) "2

2B ¥+ 10x-81=0

@ Describe the graph of the function -0.5(x
+5)"2 -6 as compared to y = x"2

Find the stretch/compression factor of a
cubic function that has a starting point of
(-2.-1) and another point of (-4,-8}. o

‘r&ﬁ{éﬁ@% S




‘)ﬁh@@) For each graph below find the equation of the graph







LT AA4

Rewrite each equation in exponential form.

%@2 log ,175=v W) log;x=y
Y fog, v=14 . U9y logy 1=0
P loe. ' H2

“-'%79) log s 125=3

Rewrite each equation in logarithmic form.

1% 2°_ 64 ) 16° =2

635

6

L

L{%) 187 =324




7 ¢ 1B.) Find the inverse of the table below
on

LT AA3-TFind theinverse of each function. Then

24 Sl = V1

LT AA3-Find theinverse of each function.

W =2 -3

graph the function and itsinverse,

55
1) gle)=—x-4
Ay
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4 ) MY So\uk\bf\

DY (=3,

0.) V0

TNV A

0 3 Dpragan. ~ e X E 00

oG ¢ O f(:j Lo 0
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Oomoin L X> 0

{ONG & \ WQD L U)‘/DQ

Nol ¢ A w\d oM

10 X=1Y b

VB, )n=s

1a.) O=-F
30.) 0=-4

Y B 0. N = 7T
220 0= 4

7\33 (=7, 10O
20) Ty ok vl

2.5 X mw\ 15
Qko.\‘.kj = (v a) -3 o
D) N =C3, 5@

273 o= (X4 s) " 1ok
\jv (-5 ,-100)

2%.) hoe) =(4, 2)

24 > Flop, Compression 0.5
Lot 5 down lo

. =88

20 )5tvelh Y, gk 3, wp?

1) 02,5

22} b= (0,0)
i J (‘/\k@\@@) ( Lele D}







